| agt resl ingiatie
examp '

pre\,ioug @(a{hpte ?
OQ .

5 S!A(Y) O{X
0 X

(om\'-L e QV&Y’MWROV
USng Cale & fO{Zg;g‘)

Here S Q(\O-})’L(( S ch
€ hample



F\')F 7Ti><wl o & (O)[))

SOO dx .
o (1)
<E><e( cise. What happens

whon  X=0 oc |
0r WL\Q/\ D(>[\

/\/OH .' O(/\F Uqu[ Q(M(\/
odd trick to POSS

%‘fom Ssd +o 500

~ Ao




\/\/OY\|"’ Wor K Nrﬁ. >0
W ¢ e O (7[/\0'7[[/\4( JV\/PQ
of  contolar !




(eqls
e AN et
( rccud_ (fegroﬂm
n B
\

OU\( ~hoice ‘/‘Q(\G
remove +he onfegotie
(ealS.



Ve

DR \6\6({

+te 3

Vs
1[2 <)

E\ﬁ\‘

DU\( C’Oﬂed ‘OOP ?o( 1A+€5(m+|ﬂj

with +he reCidug thn
Canrpgt  Cross -Hfu bfomcl\cv‘r.

dea

|

O\ke ]Q—?Qo
- -0












lopd to 2em QS
RQopo & 0

(’H\Wﬂu iegla 'er)
pmrﬁ(\,\q-‘r( 2‘@+'On§-

We ae e&\:‘r VV'*M

_aﬂq) Sz R

- Sg 22(14+2)
— SQZS_, %D((‘Jr%\'










